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ALS - 14
Lecture 14:  Relations
The set of all ordered pairs of elements from two sets is called the________________________________.
A Cartesian product of m sets results in the set of _______________________________________ 
| A1 ( A2 ( … ( Am | = _____________________________________.

A partition P of a set A is a collection of sets such that ________________________________________ and
__________________________________

For the set {1, 2, 3}, one partition containing two sets contains the set {1} and the set _______________

An example of a Cartesian product in a relational database is a _________________

A relation is a ______________ of a Cartesian product.
For a relation R defined on A X B, the set of elements in A related to some element of B is called the ____________________________________.

For a relation R defined on A X B, the set of elements in B related to some element of A is called the ____________________________________.

Can a relation be from a set to the same set? _____________________.
What is the size of matrix representation of the relation R ( A ( B? ______________________
The length of a path in a digraph is the number of ____________________________________

A path that starts and ends at the same vertex is called a _____________________________
A relation R on A is reflexive if ______________________________________
A relation R on A is symmetric if ______________________________________
A relation R on A is transitive if ______________________________________

If a relation R is reflexive, symmetric, and transitive, it’s called an ______________________________
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